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MENSURATION

1. The dimensions of a rectangular plot
is 40mx20m. A Path is formed
according the plot along the length
and breadth with a uniform width oof
2 meters, If the cost forming the path
is Rs.500 per.sq.meter, the cost of
laying the path (In Rs.) is?
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1) 58000 2) 56,400
3) 60,000 4) 62,000
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Area of Path(l)= 40=2=80m
eI Teo
Area of Path(11)=20%2=40m
120 m
Area of Path - Ill =2x2= 4m
116 m
{ Path - I1I, 2 times count Scdhadob
S 1 stime 5% SaieD)

Cost (&) = 116%500=5800Rs.
(or) (40%2) + (20%2) — (2x2)
=116 =500 = 58000 Rs.
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Area of Path = (40x20) - (38x18)
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2. The area of a rectangle is 6 time’s that

of a square. If the length of the
rectangle is 16cm more and the
breadth of the rectangle is 8 cm
morethan the side of the square, then
the perimeter of the rectangle, in cm

is ?
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1) 40 2) 48
3) 76 4) 80
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LA=Exb
=>631=(a+16)(a+8)
= 60’ =a’ +16a+8a+128
=527 -24a-128=0

24+24% + 4x5x128
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£=a+16=8+16=24

b=a+8=8+8=16

SLP=2(£+b)=2(24+16)=80
3. When the length of a rectangular plot

is increased by three times, its

perimeter becomes 440 meters and

the area becomes 7200 square
meters. Then the original length (in

mts)?
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2(3£+b)=440
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=30+ b=220.......... 1]
= Area = 7200

3xb=T200
£xh=2400

= £(220 - 3¢) = 2400[ from (1)]

= 347 = 220£ +2400=0
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4. The side and one of the diagonals of
a rhombus are 13em and 24cm

respectively. Its area (in sq.cm) is ?
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dy=10,d, =24

BA= 1 dd, =Y x10x24
=120
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A=

®12x5=30

LA=4x30=120
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5. If ABCD is eyelic quadrilateral in
which |[ABC=47" and [BCD=97"
then |[ADC-|BAD =
S8 S85ymoABCDE® [ABC =47°,
[BCD =97" wowd |ADC-|BAD=
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Since |A +[C=180°
|B+|D=180°
L|A=180-97=83"
|D=180-47=133"
~.|ADC -|BCD
=|D-|C=130"-33"=50°
(or)
|D—-|A =97"=47%=50°
( |A.[Do Samgtio, |B,|C e siymrgrds
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6. If QR and S are the midpoints of
the sides AB, BC, CD and DA

respectively of a Quadrilateral
ABCD, then the Quadrilateral PQRS
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1) &ébiHo /Square

2) SSddgeo Rhombus

3) étg,dri)ﬁﬁﬁo /Rectangle

4) RH&rodt dibdyeo /Parallelogram
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Since : SRYAC/PQ

= SRAPQ..(1)
Since : RQ/BDY/SP

S RQUSP....(2)
from (1) & (2)
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7. A room is 5.2 meters in length and
2.0 meters in width. The least number
of square tiles required to exactly

cover its area is..
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8. Ramu cuts a metal plate into two
equal halves, He again cuts one half
into smaller pieces of equal size. Each
small piece is of 20 grams in weight.
If he has a total of 7 pieces of the
metal, what was the weight of the
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original plate in grams?
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=244 +b)=34

£+2b=34......(1)

.'.2(£+ %):33

20+b=38.......... (2)

from (1) & (2) 24 +4b=68 —(1)x2
3b=30

~b=10=> £=14(from(1))
sA=14b=10
ZA=Exb=14x10=140
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